[image: image1.png][GB/100n/s/N]  Frequency Response Hi(Response 1. Force) (Magntude) Cursor Values =
Modal - Input : Input : Modal FFT Analyzer 1 ——— | Y=43ta8100

, || xeonoe
2 Status
162011 15:5
Averages: 5
Overond: 000%
« D
Resonance
£0-F———7F Frequency = 115.0
o compute el
1 4 16 63 250 .
i) et ;D‘
=10l
dB/1.00 {m/s3/N] Frequency Response H1(Response 1. Force)1 (Magnitude) Cursor Values
Modal : Input : Input : Modal FFT Analyzer 1 ——— | Y=-434dB/1.00 /sy
0 / X=1000 Hz.
2
i Status
T 62011 15154504
o Averages: 5
Overoad: 000%





